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F igure to the right indicate fuﬂ marks of the question.

Explain rules of determinants. 7
5 7 K 8
If 4 7 3|=2, thenfind K.
2 3 1
OR
HWU={1,2,3,4,56), A={2,3,6}, B={3,5,6} then Verify that 7

(i) (AUBY = A'NB' (ii) (ANB) =A'UB' (ili) (A—B)U (B —A)=AUB - ANB

Define the following sets : 8
(1) Universal set (II) Equality of two sets (IIf) Power set (IV) Singleton set
(V) Null set

Define the following Matrices 7
(D) Row Matrix (II) Null Matrix (IIT) Square Matrix (IV) Column Matrix

1 2 2 8
IfA= |2 1 2| Provethat A*>—4A—51=0.

2 2 1

OR

[0 -3 2 4 3 5 ‘ 7
IFA={1 4 9|, B=|1 2 —1| Showthat (AB)T =BTAT. '

4 0 7 01 ¢
Solve the following equations using inverse matrix method. 8
2x+3y—7 =5, 3x+2y+Z=10 vl x—5y+3Z2=0.
Write rules of Limit. 7
Evaluate the following. ‘ 8

lim xi41 lim x® + 2x% ~ 3x lim x12 - 432
@ x—2 xi+3x+4 () x—0 53— 3x (1) x> q x5-ab

“5




Q:03(A)

Q:03(B)

Q:04(A)

Q:04(B)

Q:04(A)

Q:04(B)

OR

Define Limit with example.

’

Evaluate the following.

lim x%41 lim x¥+1 lim x? -4
M x -1 =x%+2x+45 (n x = -1 x*-1 (Hp x—o 2 x -2

Define the following terms,
(I) Simple Interest (I) Compound Interest (I11) Sinking Fund

‘At what percent rate of compound interest, sum will be doubled itself in 6
years ?

OR

The population of acity at present is 76162, which was 65613 before 5 years.
Find out the rate of growth of population,

Vijay Ltd. Purchased a machine for Z. 5,00,000. Its expected life is 12 years.
After that period a new machine will cost 60 % more. In order to provide for

this, it was decided to create a sinking fund. On every 31 December a sum
was tobe invested at 14 % rate of compound interest. find out this sum.
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